vier breuken, decimalen, volgorde van bewerkingen
met haakjes

2,2+4(4+4,3)=

I 1
S+ 2)x3+4,9=
(3 2) 5

(3,3-2,4)x2+2=

1
2,8+53+ )=
9 ( 4)

3 2
Z-53,2-5)=
5 ( 9 3)

Datum: Score:

1
(§+2,7)><4+

W] ==

I 1
4+ -)x2-2,8=
(2 5) b

2 1
- )x3+4,3=
(3 3) b

(5,1 —4)x2-2,3=

I 3
2,6-5(z+2)=
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vier breuken, decimalen, volgorde van bewerkingen

met haakjes

177 2
2,2+4(4+4, 3): —5- = 355

I 1 37 2
(3 2) ’ 5 5

19 4
3,3-2,4)x2+2=— =3

1. 381 1
2,8+53+ )= 2 = 19—
B30T = 55 %

181

3 2 1
37032~ g) =)= Cl23)

Datum: Score:

1 1 197 2
42,7 x4+ = — =13
GF*27) 315 15

1 1 7 2
(§+§)X2_2>8:(_§):(_1§)

2 1 33 3
(3 3) ’ 10 10

1
51-4)x2-23=(——
(7 ) b ( 10)

1 3 2
2,6-5(z+ )= (1) = (13)
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